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WHEN THREE NUMBERS

ARE GIVEN.

FIRST PROPORTION

(izFke vuqikr)

1. The first proportional of three numbers 6,
12 and  24 is :

rhu la[;k,¡ 6] 12 vkSj 24 dk çFke vuqikr D;k
gksxk\
(a) 3 (b) 4

(c) 7 (d) 6

SECOND PROPORTION

(f}rh; vuqikr)
2. The second proportional of three numbers

28, 4 and  5 is :

rhu la[;k,¡ 28] 4 vkSj 5 dk f}rh; vuqikr D;k
gksxk\
(a) 39 (b) 48

(c) 35 (d) 40

THIRD PROPORTION

(r`rh; vuqikr)

3. The third proportional of three numbers 2,
3 and  15 is :

rhu la[;k,¡ 2] 3 vkSj 15 dk r̀rh; vuqikr D;k gksxk\
(a) 10 (b) 20

(c) 30 (d) 40

FOURTH PROPORTION

(prqFkZ vuqikr)

4. The fourth proportion of 12, 14 and 24
is :

12] 14 vkSj 24 dk prqFkZ vuqikr D;k gS\
(a) 30 (b) 28

(c) 32 (d) 36

5. The fourth proportion of 0.2, 0.12 and 0.3
is :

0-2] 0-12 vkSj 0-3 dk prqFkZ vuqikr D;k gS\
(a) 0.13 (b) 0.15

(c) 0.18 (d) 0.8

6. The fourth proportion of 0.12, 0.21 and 8
is :

0-12] 0-21 vkSj 8 dk prqFkZ vuqikr D;k gS\
(a) 89 (b) 56

(c) 14 (d) 17

7. The fourth proportional to 10, 12 and 15
is :

10] 12 vkSj 15 dk pkSFkk vkuqikfrd gS %
CHSL, 15/10/2020 (Evening shift)

(a) 24 (b) 22

(c) 18 (d) 20

WHEN TWO NUMBERS ARE GIVEN

FIRST PROPORTION

(izFke vuqikr)

8. The first proportional of two numbers 3
and 5 is :

nks la[;k,¡ 3 vkSj 5 dk izFke vuqikr D;k gksxk\
(a) 1.6 (b) 1.8

(c) 1.2 (d) 1.4

MEAN PROPORTION

(eè; vuqikr)

9. Find the mean proportional of 3.6 and 0.9?

3-6 vkSj 0-9 dk eè; lekuqikrh la[;k D;k gS\
(a) 2.8 (b) 1.8

(c) 2.4 (d) 5.2

10. The mean proportional between  3 + 2

and  12 – 32  is :

 3 + 2 vkSj  12 – 32  dk eè;kuqikrh Kkr

djsaA

(a) 7 (b) 6

(c) 2 7 (d)
15 – 3 2

2

PROPORTION (lekuqikr)
(CLASSROOM SHEET-1)
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THIRD PROPORTION

(r`rh; vuqikr)

11. The third proportional of two number 9 and
24 is :

nks la[;k,¡ 9 vkSj 24 dk r`rh; vuqikr D;k gksxk\
(a) 39 (b) 48

(c) 72 (d) 64

12. The third proportional of two number 4 and
28 is :

nks la[;k,¡ 4 vkSj 28 dk r`rh; vuqikr D;k gksxk\
(a) 52 (b) 56

(c) 84 (d) 196

13. The third proportional of two number
(a2 – b2) and (a – b) is :

nks la[;k,¡ (a2 – b2) vkSj (a – b) dk r`rh; vuqikr
D;k gksxk\

(a)
a – b

a + b
(b)

+

–

a b

a b

(c)
a

b
(d)

b

a

SOME MIX TCS QUESTIONS

14. What is the ratio of the mean proportional
between 4.8 and 10.8 and the third
proportional to 0.4 and 2.4?

4-8 rFkk 10-8 ds chp ekè; lekuqikrh rFkk 0-4 vkSj
2-4 ds chp rhljs vkuqikfrd dk vuqikr Kkr djsaA

SSC CGL 10 June, 2019 (Morning)

(a) 2 : 1 (b) 3 : 2

(c) 1 : 2 (d) 2 : 3

15. What is the ratio between the fourth
proportional of 3, 4, 9 and the mean
proportional between 2 and 98?

3] 4] 9 ds prqFkZ vuqikrh vkSj 2 vkSj 98 ds eè;kuqikrh
ds chp dk vuqikr D;k gS\

SSC CHSL 11 July, 2019 (Afternoon)

(a) 7 : 8 (b) 7 : 6

(c) 8 : 7 (d) 6 : 7

16. What is the ratio of the third proportional
to 0.4 and 0.8 to the mean proportional
between 13.5 and 0.24?

0-4 rFkk 0-8 ds rhljs vkuqikfrd vkSj 13-5 rFkk 0-
24 ds chp ekè; lekuqikrh esa D;k vuqikr gksxk\

SSC CGL Tier II, 12 Sepember 2019

(a) 5 : 4 (b) 7 : 8

(c) 8 : 9 (d) 9 : 10

17. What is the sum of the mean proportional
between 10.8 and 4.8 and the third
proportional of 2 and 4?

10-8 rFkk 4-8 ds chp ekè; lekuqikrh rFkk 2 vkSj 4
ds chp ds rhljs vkuqikfrd dk ;ksx D;k gS\

SSC CPO 12 March, 2019 (Morning)

(a) 15.2 (b) 11.2

(c) 8.2 (d) 10.2

18. Let x be the mean proportional of 25.6 and
32.4 and y be the third proportional of 32
and 48. Then, 3x : 2y = ?

eku yhft, fd x, 25-6 vkSj 32-4 dk eè;kuqikrh gS
vkSj y, 32 ,oa 48 dk r`rh;kuqikrh gSA rc 3x : 2y

= ?

(a) 5 : 3 (b) 3 : 5

(c) 4 : 5 (d) 5 : 4

SSC MTS 20 August 2019 (Morning)

19. If x, 8 and 27 are in constant proportion,
then what is the value of x?

;fn x, 8 vkSj 27 fujarj vuqikr esa gS] rks x dk eku
D;k gS\

SSC MTS 20 August 2019 (Evening)

(a)
2

3
(b)

8

3

(c)
4

3
(d)

64

27

PROPORTION AFTER
ADDITION OR SUBTRACTION

20. Which number should be added in 4, 10,
12 and 24 each to make these numbers in
proportion.

4, 10, 12, 24 esa izR;sd esa dkSu lh la[;k tksM+h
tkuh pkfg, ftlls ifj.kkeh la[;k,¡ lekuqikfrd gks\
(a) 9

(b) 3

(c) 6

(d) 4

21. Which number when added to each of the
numbers 6, 7, 15, 17 will make the
resulting numbers proportional.

fdl la[;k dks 6, 7, 15, 17 ds izR;sd la[;k esa
tksM+k tk, dh pkjksa la[;k,¡n lekuqikfrd gks tk,\
(a) 5

(b) 3

(c) 6

(d) 4
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22. What is the least number subtracted from
14, 36, 20 and 54 so that these numbers
become proportional?

14, 36, 20, 54 esa izR;sd in esa ls de&ls&de D;k
?kVk;k tk, fd ;s la[;k,¡ lekuqikrh gks tk,\
(a) 3

(b) 2

(c) 4

(d) 5

23. What should be subtracted from each
number 3, 5, 6 and 7 that they are
proportional each other?

3, 5, 6, vkSj 7 esa ls D;k ?kVk;k tk, fd ;s la[;k,¡
,d&nwljs ds lekuqikrh gks tk,\
(a) 5

(b) 6

(c) 9

(d) 8

24. If x is subtracted from each of 23, 39, 32

and 56, the numbers so obtained in this

order are in proportion. What is the mean

proportional between (x + 4) and (3x + 1)?

;fn x dks 23, 39, 32 vkSj 56 esa ls izR;sd ls
?kVk;k tkrk gS] rks izkIr gksus okyh la[;k,¡ lekuqikr esa
vkrh gSA (x + 4) vkSj (3x + 1) ds chp eè;
vkuqikfrd Kkr djsaA

SSC CGL, 4 June 2019 (Afternoon)

(a) 15

(b) 10

(c) 12

(d) 14

25. When x is subtracted from each of 21, 22,

60 and 64, the numbers so obtained, in

this order are in proportion. What is the

mean proportional between (x + 1) and

(7x + 8)?

tc x dks 21] 22] 60 rFkk 64 esa ls ?kVk;k tkrk gS]
rks bl izdkj izkIr la[;k,¡ lekuqikr esa gSA (x + 1)

rFkk (7x + 8) ds chp ekè; lekuqikrh Kkr djsaA
SSC CGL, 6 June 2019 (Morning)

(a) 27

(b) 18

(c) 24

(d) 21

26. When x is added to each of 2, 3, 30 and

35, then the numbers obtained in this

order, are in proportion. What is the mean

proportional between (x + 7) and (x  – 2)?

tc x dks 2] 3] 30 vkSj 35 esa tksM+k tkrk gS rks bl
Øe esa izkIr gksus okyh la[;k,¡ lekuqikr esa gSA (x +

7) rFkk (x + 2) ds chp eè; lekuqikrh Kkr djsaA
SSC CGL, Tier II 11 September 2019

(a) 7

(b) 4

(c) 6

(d) 5

27. What number must be added to each of the

number 8, 13, 26 and 40 so that the

number obtained in this order are in

proportion?

fdl la[;k dks 8] 13] 26 vkSj 40 esa tksM+k tkuk
pkfg, rkfd bl Øe esa izkIr la[;k,¡ lekuqikr esa gks\

SSC CHSL,16/10/2020 (Afternoon)

(a) 2

(b) 3

(c) 1

(d) 4

1. (a) 2.(c) 3. (a) 4. (b) 5. (c) 6. (c) 7. (c) 8. (b) 9. (b) 10. (c)

11.(d) 12.(d) 13.(a) 14.(c) 15.(d) 16.(c) 17.(a) 18.(b) 19.(d) 20.(d)

21.(b) 22.(a) 23.(c) 24.(c) 25.(c) 26.(c) 27.(a)

Answer Key

[ 3 ]

https://t.me/maths_doubt_group_by_Aditya_Sir

	Blank Page

